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A N F IRF IR | SfHd Fo
Q, = msAT
A IR A TR F a9 g§RT o @A a2 2
T ot ¢ e
Q,=mL
%7‘3 Q=Q
msAT =m’L
@ = msatT
L
_30x4.2x10° x5/3
 580x 42x10°
_10 _

=0 = 00862 kg
116

st o A v - 2002

= 000431 kg/min
= 431g/min
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(© w1 el ¥ AR o AuHE T B, 79 WIeh & Framger afa deve
i 3918 &Fwd ¥ RfdRy Fof £= o7 § 59 oxg G drmawy 7 T,
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U R 3 T R, 9@ RfERa el =Tt - T¢) ¥ @ E'<E,
[ Gt § YW A TRA AR B gHS PN AN B HH B 2

@) W s sEed Sl ¥ gedl 1 qrgAved Ue JEeied U bl
HifY & TR R AW T HH F IAGT 6 DY g T G g
TR Efdd $Ral 8- R T @ @ gedl 3vS g S e e
P g Bl

(e) wife W N FHTEIRGT (540 cal/g) it o HSAENRA (80 cal/g) A
qgd If® Dl ¥ (V9 A W) o WY P A I g9 @ A
I <& B

Weq 22. el fIvg 1A 5 min & 80°C ¥ 50°C B wan B1 A wRAW &1 A9
20°C 2, T 39 TG F1 YREe HIFT e 39 a9 60°C ¥ 30°C & S|

& R, uRf™S 9N 7, = 80°C
Jffm @ T, = 50°C
JIAERoT $ G T, =20°C
t; =5min

e & Maed FaararR,

o 2
(80 50) _ k[ao+ 50 _20]
5 2

359=k(65-20)

e A —T=k[T'+T2—T0]

6=kx45
; k=08_-2
45 15
fgdva amaeen ¥,
RfE a7 = 60°C
Sf<m am T; = 30°C
t'=7
o, (60 - 30) =£[60+ 30 _20]
t’ 150 2
@=3(45—20)
t’ 15
pr= 30%15
2x25

=9 min
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